I'WP Skills 1-3

1. Convert each of the following into meters using correct scientific notation:

A) 530mm 5,30x6°x 10 m = 5340 m

B) 0.8Kkm ©xid x10%n = 8x107m

C) 45 em 4.5x10 %107 = 4,5%10" m

D) 636 1m 6. 36x(0%x10 ' = 6.36x0 ™ o

E) 520 micro-meters 0.8 #107x lOdbm = 5.2)40qu

2. For each of the following:
1. Write the value in correct scientific notation using the given unit of measurement
2. Write the value using the most logical metric prefix

For example: 0.003 m=3x10m=3 mm

A) 16000 m |.bxiotm = 16410 Km
B) 0.065m &.5x107m = b .Deem

C) 0.0000007 m 710 pn = 7x10
D) 0.0004m Y310 v = Ui M

E) 3500m 3, 5x\0°m = D.5Km

3. Dimensional analysis is a method of changing the unit of measurement for a quantity without
changing the value. This allows us to translate between measurement systems or perspectives.
For each of these questions state the conversion vou would need to know in order to solve the
problem (you do not need to actually solve) ‘

Cosk pec \p 2

B) How much time does it take Ironman to travel 1500km?
e = 1300k
C) What is the mass of 3m? of skittles? Y

Dsan":f\sr\\ /) kg = h’\?)

A) How much does it cost to purchase 10 Ibs of jelly beans? &1”!0 lbs x—jao—; .
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4. 450pm is equivalentto U}, 5;«\021\6 b\(ﬁ =45 X\DJPm
A) 4.5x10*m
B) 4.5x 10m
C) 4.5x%10%m
D) 4.5x 10?m

5. Which of the following is a correct cx.pres;sifg] for 0.02 ram
- !
S x10 Tx (o =A™
B) 2x10-m
C) 2x102m
D) 2x 10lm

6. Which of the following correctly expresses the re:su]t of (A x 107) divided by 1000

=)
A) .001A Ao A 100 o
B) Ax ]IS A x\0° 1x103 dan
C) Ax 108
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7. Which of the following correctly expresses the product of (A x 103) and (B x 10-7)

A) AB x 10-2 A B » \o
B) A/B x 1010
D) AB x1010

8.2.67 x 10~ m is equal to

A) 2.67x 1077 mm
B) 2.67x 101 km
C) 2.67x101 mm D& 6Tx0 Y6
D) 2.67 x 104 km




